[E:E 8l coaxial shaft

VRXFsabs

HiE - RIES

Model number

VRXF series (75 F5%547)

VRXF series (Adapter type)
T A JI)LE:#EH ABLE REDUCER

X[ F 15| C

19HB 16

L IO ha—K(%1)
Mount code (1)

S: HAEF—8L
Smooth shaft

K: Hh#F—FE(FTay)
Shaft with key (Optional)

S

VR

T
1
>
1%
i
i
1

HAAFH
Output style

HA4X B.C.D.E &
i m
Frame size p
JEREE 1E® Single : 3.5.9 =]
Ratio  2F% Double : 15,20, 25, 35, 45, 81 m
NSyl RBEEL
Backlash No Symbol - % Standard
specification PB : =fEEZE! High-precision
LB : B—/\w95vyI 8 Low-backlash
WA\VISIVE | gamy iz VRX-OO VRX-LB VRX-PB
Backlash Reducer (HR#ERY ) (A—nw o598 (BRER)
frame size (Standard) (Low-Backlash) (High—Precision)
B#: B frame | 0. 25°(15 %> 15 arc-minutes) | 0. 166°(10 43 10 arc-minutes) | 0. 05° (34> 3 arc-minutes)
C# C frame | 0. 25°(15 4> 15 arc-minutes) | 0. 08°( 5 43 5 arc-minutes) | 0. 05°(3 4> 3 arc-minutes)
D# D frame | 0. 25°(15 %> 15 arc-minutes) | 0. 08°( 5 43 5 arc-minutes) | 0. 05°(34> 3 arc-minutes)
E # E frame | 0. 25°(15 %> 15 arc-minutes) | 0.08°( 5 %3 5 arc-minutes) | 0. 05°(3%> 3 arc-minutes)

5008 Bt ARBER

| EffrARKEH AR F o

Output specification Flange Installation style is not limited
D)—X4% VRXI1)—X
Series name VRX Series
LA VBRI ITH FETELTDREE

" Model name for ABLE reducer
E—ARfH IR THEITETAET IV T EMEZD
T THROH R EE—ZTEF O AREIZRYET,

Shimpo’s adapter flange motor mounting methodology
allows for nearly limitless motor mounting options.

X1 Iovba—Fk

T YOURI—FIEBMAE—RIZE->TREYET,
R—LR—U L DEEY—IVICTHERTEET,
FRGEIGEFEEBLEHLELIZEL,
(E—2EDFEFITARIZDONT]

- E—AEHE, F—FELL AN—METOEFITERZYET,
s E—AEAF—EM DB AL, F—FII L TRFFIESLY,
s E—AEADAVEDIGE LSS HELESLY,

%1 Mount code

- o

5

- Tviuy
k Bushing

KTETHA, Ty DEBHERBALIZASANTT,
NENELDIZEENHYET .

TET4H
Mount code varies depending on the motor. Adapter
Please refer to reducer selection tool or contact us

for more information.

[Mounting style to the motor)

*Motor output shaft is the smooth shaft without keyway.

+If the motor output shaft is with the keyway, remove the
key from the shaft.

-If the motor output shaft has D shape cut, contact us.

Wi hEs v T
Output shaft tapping
B#:: M5 x 10
B frame: M5 X 10

HEEY—/L(AXREE
(http://www.nidec—shimpo.co.jp/selection/jpn/)

M Selection tool (English)
(http://www.nidec—shimpo.co.jp/selection/eng/)

D#:: M8 x 16
D frame: M8 X 16

E#::M10 x 20
E frame: M10 X 20

C#::M6 x 12
C frame: M6 X 12

VR 98






